There is a pn'ze You can find. /;—~\

K

EPR RIT4—T4—IF

Eo

QFEM N2~

H &

R ]

R AR

4y b

X3 AREEERT LAY EToC

FELAFIT0X

3H1H()

13 : 00~13 : 50

BN 4 SR

(R e R & | G
et O RZICEE. ¥ 1 VB3 2 A RUSEE |

14 :

00~15

: 00

Hi/NE 5 AR

[/NEC - B DR ZH)E
ROEETHHTL 2 [N, T8l #5095 b
HwELLS

15:

10~16:

10

H/NE 6 4

MEleiko X5 1] #E
AN 6 AR AT b HIEAE T b R A | D U |
HEIT L6505 |

16 :

20~17

120

et 1448

5035 bicHIAEE 1 ] G
LI TH LR [HIE] 2hEICk 2RI
TELLOICHMELEL &9 !

3H8H(T)

14 :

00~15

100

[RRARBFHIHS

17 :

00~19

: 00

b 3 44

[TEPEEE - EHT X PR B
TR CHEE W s R BOIc, 3 A TE
PR T 1) 72 8 2 & SR !

17 :

00~19

: 00

Frepast 2

[TEPEEE - EHT X PR &K
TEEGATHE T s HEE fLIc, 3 AEED T
PRERT ) U 72 88 2 & S !

3H9H(H)

14 :

00~15

130

Frepast 2

IAREXOFIH] %
RX | 2 [El&] b ow s REIC
REE2EAICRZENICTEL X ICHELEIL x5 !

FyL vyl

16 :

00~17

230

bt 3 44

IAAEEHTT —RBEI%KI F#H
Al FHiEs n s [—RE%K] #1EH |

T BRI R SR A B 0 SZ BRI 18] 7 FRUES TR L |

3 A 15 H(+)

17 :

30~19

230

U REC

[TEREGEA - EHhT X b HEE]
TEEGATHE T LS FEE LI, 3 HEED T
R 1) U 72 8 & % SR

15

1 00~17

100

Wbt 2 g4

[TEREE - BHT X PSR EEE
TEEScHE I 2L f.oc, 3 AFEMEO ME
BEER I 1A 72 7 A % it |

d/_\’@’\o““ ?7 Ot_/\)L

- gt

<




O INFAE LA F O

H R ] R4

T N#ESL T R
SHOR | 13:00~14:30 | " IAFETVTAR
B 3~6 4 | HIHAE THEE] TRE] 017 2 b & % |
B 2 s oy — N
13 : 00~14 : 50 WNE3FE | [INEESLTFXAFRELS]

A~V b

3 H 16 H(H) Wb 44848 | 3/9(H)ICE L -z %2 L3 | fiEFEON
WNESEEE | BeBI b0l L) !
15:30~17:20 | .
W/ 6 4R

BRHEZTER! AN MRLRAARIE. SBESES!

-9

There is a prn’ze You can find. .~/

rhl sEBEERM 14:00~22:00
T

oy Fooid paedehl-008 2




